Elliptic curves Lecture 3
26th April 2024
Lecture 182: §I Introduction
§ 2 Projective curves
Def 2.1 Let K be a field.
N21
Affine space :
$$A^n(K) = S(X_{1,...,}X_n) | X_{1,...,}X_n \in K$$
?
 $(n=2:plane)$
Projective space : $P^n(K) = A^{n+1}(K) \setminus S(0,...,0)$?
where $(X_{0,X_{1...,}}X_n) \sim (Y_{0,...,}Y_n)$ if $\exists \lambda \in K^X$
with $X_i = \lambda Y_i$ $\forall i = 0_{...,n}n$.
Notation: $[X_{0,X_{1,...,1}}X_n]$ for the class
homoseneous coordinates of $(X_{0,...,}X_n)$.

(For motivation see [ST] Appendix A.) We will be interested in the projective plane $\mathbb{P}^{\mathcal{L}}(K) = \frac{1}{2} \left[\chi_{i} \chi_{j} \right] \left[\chi_{i} \chi_{j} \right] + \frac{1}{2} \left[\chi_{i} \chi_{j$ [×,Y,T] Î \bigcirc $A^{2}(\mathcal{V})$ (X, X) In flue considered affine curves $C: f(x,y) = O \qquad f(x,y) \in \mathcal{H}(x,y)$ $y^2 - x^3 - 1 = 0$ Q-9. 3 projective curve - homogeneous polynomial $\widehat{C}: \mp(x,y,z) = O \mp(x,y,1) = f(x,y)$ $Q.g. Zy^2 - \chi^3 - Z^3 = 0$

We set more points, e.g. (0,1,0)"point at infinity" is in $\hat{C}(Q)$.

Def 2.2 i) A projective plane curve averk is siren by a homoseneous polynomial (d=3; cabic)ii) We ray C is singular at PE (P2(K) $if \quad \frac{\partial F}{\partial Y}(P) = \frac{\partial F}{\partial Y}(P) = \frac{\partial F}{\partial Z}(P) = 0.$ Otherwise C is non-singular at P. IF C is non-sinsular at every Piwe say C isa smooth (or non-singular) curve.

Example: i) C:
$$ZY^2 - X^3 = 0$$
 is
singular at $P = [0, 0, 1]$
 I'
 I'

Troposition 2.4 Let E be an elliptic curve over 11 with char (K) \$ \$2,33. Then there exists \hat{E} : $Z = X^{2} + AXZ^{2} + BZ^{3}$ a curve A BEK with $4A^{3} + 27B^{2} \neq 0$ and an invertible change of variables $\Psi: E \to \widehat{E}$ of the form $\Psi\left(\left[X,Y,Z\right]\right) = \left[\begin{array}{cc} \frac{f_{1}(X,Y,Z)}{g_{1}(X,Y,Z)} & \frac{f_{2}(X,Y,Z)}{g_{2}(X,Y,Z)} & \frac{f_{3}(X,Y,Z)}{g_{3}(X,Y,Z)} \end{array}\right]$ such that $\Psi(G) = [O_1(0)]$. (figi e k(x,y,z)) Proof: Idea see [ST], Chapter 1.3. Rem: If Char(1/=2 one can bring it on the form 7Y' = X' + AX' + BX' + CZ'and in general $7 \sqrt{\frac{2}{4}} a_1 \times 72 + a_2 \times 72^2 = \chi^3 + a_2 \times 72^2 + a_4 \times 72^2 + a_6 \times 73^2$

l Example: Consider the elliptic curve $F: \chi^{3} + \chi^{3} = d^{2}$ deZ d=0. with G = [1, -1, 0]. The change of variable $\Psi([X,Y,Z)) = \begin{bmatrix} 12d \ 2 \\ \hat{X} \end{bmatrix} \underbrace{36d(X-Y)}_{\hat{X}} \underbrace{X+Y}_{\hat{Z}}$ gives $\hat{F}: \hat{Z}\hat{Y}^2 = \hat{X}^3 - 432d^2\hat{Z}^3$ $\psi([1,-1,0]) = [0,72d,0] = [0,1,0]$ 4 has inverse $(\overline{\psi}([X,Y,\overline{z}]) = \begin{bmatrix} \frac{36dz+Y}{72d}, & \frac{36dz-Y}{72d}, & \frac{X}{12d} \end{bmatrix})$ From now on we will irrually use affine coordinates, eq. just write \hat{E} : $\hat{y}^2 = \hat{x}^3 - 432 d^2$ with the understanding that there is still the point O "at infinity". In offine coordinates : $\Psi(X_1Y) = \left(\frac{12d}{X+Y}, \frac{36d(x-Y)}{x+Y}\right)$

<u>Def 2.5</u> Let E: f(x,y)=0 and E': g(x,y)=0 be elliptic curver/K with origins G and G'.

We say that E and E' are isomorphic/K if there is an invertible change of variables $\Psi: E - E'$ defined by rational functions with coefficients in K, such that $\Psi(G) = G'$.

Example: Curves given by quartic paynomials can be iromorphic to curves given by a cubic polynomial, e.g. $C: V^2 = u^4 + l$ and $E: y^2 = x^3 - 4x$ are isomorphic/Q via $\Psi(u_1v) = \left(\frac{2(vtil)}{u^2}, \frac{\Psi(vtil)}{u^3}\right)$

$$\begin{cases} 3 \quad \underline{\text{The group E(Q)}} \\ \text{A,BeiQ} \\ \text{Lef } E|Q: \quad y^2 = x^2 + Ax + B \quad be \quad (\overset{\text{HA}+23B+0}{\text{HA}+23B+0}) \\ \text{an elliptic curve with origin G. We want.} \\ \text{to define a group structure on} \\ E(Q) = \begin{cases} (x_1 y) \in Q^2 | y^2 = x^2 + Ax + B^2 \cup SG^2. \end{cases} \\ \underline{eq} = \begin{cases} (x_1 y) \in Q^2 | y^2 = x^2 + Ax + B^2 \cup SG^2. \end{cases} \\ \underline{eq} = \begin{cases} (x_1 y) \in Q^2 | y^2 = x^2 + Ax + B^2 \cup SG^2. \end{cases} \\ \underline{eq} = \begin{cases} (x_1 y) \in Q^2 | y^2 = x^2 + Ax + B^2 \cup SG^2. \end{cases} \\ \underline{eq} = \begin{cases} (x_1 y) \in Q^2 | y^2 = x^2 + Ax + B^2 \cup SG^2. \end{cases} \\ \underline{eq} = \begin{cases} (x_1 y) \in Q^2 | y^2 = x^2 + Ax + B^2 \cup SG^2. \end{cases} \\ \underline{eq} = \begin{cases} (x_1 y) \in Q^2 | y^2 = x^2 + Ax + B^2 \cup SG^2. \end{cases} \\ \underline{eq} = \begin{cases} (x_1 y) \in Q^2 | y^2 = x^2 + Ax + B^2 \cup SG^2. \end{cases} \\ \underline{eq} = \begin{cases} (x_1 y) \in Q^2 | y^2 = x^2 + Ax + B^2 \cup SG^2. \end{cases} \\ \underline{eq} = \begin{cases} (x_1 y) \in Q^2 | y^2 = x^2 + Ax + B^2 \cup SG^2. \end{cases} \\ \underline{eq} = \begin{cases} (x_1 y) \in Q^2 | y^2 = x^2 + Ax + B^2 \cup SG^2. \end{cases} \\ \underline{eq} = \begin{cases} (x_1 y) \in Q^2 | y^2 = x^2 + Ax + B^2 \cup SG^2. \end{cases} \\ \underline{eq} = \begin{cases} (x_1 y) \in Q^2 | y^2 = x^2 + Ax + B^2 \cup SG^2. \end{cases} \\ \underline{eq} = \begin{cases} (x_1 y) \in Q^2 | y^2 = x^2 + Ax + B^2 \cup SG^2. \end{cases} \\ \underline{eq} = \begin{cases} (x_1 y) \in Q^2 | y^2 = x^2 + Ax + B^2 \cup SG^2. \end{cases} \\ \underline{eq} = \begin{cases} (x_1 y) \in Q^2 | y^2 = x^2 + Ax + B^2 \cup SG^2. \end{cases} \\ \underline{eq} = \begin{cases} (x_1 y) \in Q^2 | y^2 = x^2 + Ax + B^2 \cup SG^2. \end{cases} \\ \underline{eq} = \begin{cases} (x_1 y) \in Q^2 | y^2 = x^2 + Ax + B^2 \cup SG^2. \end{cases} \\ \underline{eq} = \begin{cases} (x_1 y) \in Q^2 | y^2 = x^2 + Ax + B^2 \cup SG^2. \end{cases} \\ \underline{eq} = \begin{cases} (x_1 y) \in Q^2 | y^2 = x^2 + Ax + B^2 \cup SG^2. \end{cases} \\ \underline{eq} = \begin{cases} (x_1 y) \in Q^2 \mid y^2 = x^2 + Ax + B^2 \cup SG^2. \end{cases} \\ \underline{eq} = s \end{cases} \\ \underline{eq} = s$$
 \\ \underline{eq} = s \end{cases} \\ \underline{eq} = s \Biggr \\ \underline{eq} = s \end{cases} \\ \underline{eq} = s \Biggr \\ \underline{eq} = s \Biggr \\ \underline{eq} = s \Biggr \end{cases} \\ \underline{eq} = s \Biggr \end{cases} \\ \underline{eq} = s \Biggr \\ \underline{eq} = s \Biggr \end{cases} \\ \underline{e

and P+G = G+P=P for any $P \in E(\mathbb{Q})$ (Notice: the case $x_1=x_2$ and $y_1 \neq \pm y_2$ does not exist)

(III) $P_3 = O$ if $x_1 = x_2$ and $y_1 = -y_2$.

This definition
gives the emlicit alsobraic
expression of the geometric
interpretation of Lecture 2
Thm 3.2 (
$$E(Q)_1 +$$
) is an abelian group
Proof: The addition is commutative by definition, G
is the neutral element and $P=(x,y)$ has
inverse $-P=(x_1-y)$. The associativity can be
checked by direct, but complicated, calculation.
See S. Zwegers: "On the associativity of the addition
on elliptic curver."